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General Instructions :

62

(i)  The question paper is divided into three sections.
(ii) There are 25 questions in all. All questions are compulsory.

(iii) Section A includes question No. I — 14. They are very short answer type questions
carrying 2 marks each. Answer to each question should not exceed 30 words.

(iv) Section B includes question No. 15 — 21. They are short answer type questions
carrying 4 marks each. Answer to each question should not exceed 80 words.

(v) Section C includes question No. 22 — 25. They are long answer type questions
carrying 6 marks each. Answer to each question should not exceed 200 words
each. Question No. 25 is to be answered with the help of the passage given.

TUg —<h
Section — A
AT STEEHEGT S a1 H 9T 1 8 7 2

What 1s socialabout social mmequality ?

TTEITd Tciieh ohl & oh ohl ST Tehdl & 7 2

In what ways can status symbol be 1dentified ?

TR ohl SHETETh T ATHIY | BTICl hd glaT g 7 2

YT
SFETEThIT 3TThel o e hi §dSy |

How does India benefit from a demographic dividend ?
OR

State the importance of demographic data.
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BT STehas shl STTHUTUN YT IS8T Higd YehIel STeTT | 2
With the help of an example, highlight the concept of participatory democracy.

STATMET 3T 3T 3T TS AT IR 3T TS AT ST & b s 37X
d1d 2 | 3Ty sarsy | 2

Economist and others have often made a distinction between the organised or fromal
and the unorganised or informal sector. Justify.

TR 3ATeia Y T Ye9M <k 3TeiT—3TolT aiish [aehid shid g | IR 8 ? 2

‘Social movements also develop distinct modes of protests.” What are these ?

T AT D% =S e H S L &l ¢ aleliich sad T o =g qe foanica & |
fehgl & el bl aarsy | 1+1=2

YT
FHEUEEThI <hl L& o Tid Tidsgdl Hi T o fTC fhd TehR Teh FHIAT 8 7

‘Federal system has worked fairly well though there remain many contentious issues.’
Mention any two 1ssues.

OR

How can commitment to the protection of minorities also be a challenge to the State ?

3719 JUHTHS Yo J =1 9H3d & 7 2
AT
T | 9Te ST STl aTiHeh faferdr sh gg=m s |

What do you understand by ascriptive 1identities ?
OR

Identity the religious diversity found 1n India.

H X TR o ST T Wbl § 98 Il o HATEH § 37IT hiY e [hdT 8 |
3T HY o ThIN H WI3h IR AMBI3C b 9 3T qarsy | 1+1=2

In response to the harsh working conditions workers have expressed anger through
trade unions. Differentiate between strike and lockout 1n the light of the above

statement.
3 %ﬁ (P.T.O.
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GRES hl UgHH IS B b 1T BRI oh 3TshTHeh HTCATET 3TN 3R 3T hl WIGHT
I &I H T 8T, 37 &I 1 Iocid L 19k RIATH HREE oh 1371 7 TGl {ohaT | 2

‘Adivast experiences of marginalization and their sense of 1njustice were the
mobilized to create shared Jharkhandi identity.” Mention the i1ssues against which
leaders of Jharkhand agitated.

TS b Tobel =T < 9H YT RIS i S1H=T 7 2
3T

STyfehlertor 3T efrierar snyfes fomm & T de o1 fewn @ | 39 QA1 ufshnat &

for8 Joh R ST AT & 7

What 1deas of society did the Dharma Sabha project ?

OR

Modernisation and Secularisation are part of a set of modern i1deas. How are the two
processes linked ?

ST ST STTeIeTl o ol 3STE ¢ | 2

Give two examples of caste based movements.

ST bl STTEITTeh TATS | A6 T (b d IR H [Hetdl & 7 2

How do people find jobs in an industrial society ?

FA-eRTeh WA H (3T shIh Ul hel §3TT 7 2
31Vl

YT | 3G WY Shl ST 9&ATaqul 3R ToriamaTet &1 g | ShIul Sais |

How did deindustrialisation take place in colonial India ?
OR

The impact of English language has been many sided and paradoxial in India. Give
reasons.

T - @

Section — B
T AMTAhTA oh ¥ o QIR THAR IS hRIshH ol el o7 | 39 U &l i
ERIELNE 4

The Family Planning Programme suftered a setback during the years of national
emergency. Justify the statement.
[=] (=]
4
2
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USAATE <hl oIl oh €9 H JUATehIUT (HHITSIChehIM ) hi SITRET . | 4
3TaT
3T e oh STTAR STSTR o1 HExd §Hh 31T i § W & | I M |

Explain commodification as feature of capitalism.

OR

According to Alfred Gell the market has significance beyond its economic function.
Explain.

STl Weh HeWTd Ul YUITedl 3 | fored i o THETsy | 4
COCH
3 HEqUl HeT THGIT Shl STEAT L SIl ATHTINToh SISl hl SIREIT Shid H Heg hid & |

Caste 1s a discriminatory system. Elaborate.

OR
Explain the key principles that help explain social stratification.

Jfaeqeicaeh Ted SHIM TE o [gUTH i Jidisied Tai oid & | SUIH 3Tl o q1e
TS | 4

Competing interests do not always reflect clear class divide. Explain with suitable
examples.

TRd H 3TUS g hiH § 1T foehiyd TohU 7T & 3R =T 7 4
Which cities were-developed by the British in India and why ?

“HEhTohLUl 21 TTshal STHHFAT 3 HeHTE i TTcdTzd hidl & || THSET | 4
‘Process of Sanskritisation encourages imnequality and discrimination.” Explain.

AT TS T FUH AT AT & Tilchd TRUTNT ST Jehet & 7 Fl 7 4

SR

‘YR @R ehl 3AYTAhlA o qIUH FEGl A sl A8l 39d e || i
§drsu |
Is 1t easy to describe a State but hard to define ? Why ?

OR
“The Indian people had a briet experience of authoritarian rule during emergency.’

Justify.
[=] e [m]
5 [P.T.O.
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gug — 1

Section — C

“TohETT <hl SATCHET hH <1 ALIhT UTHIUT HHS G 3icT Te HawqUl Hehe bl 3T hdl g |
319 Tieed T3] d 1 THIAd & 3T ThEMI ehl JATHE™T o T o ol DGR & ?

ST
JIE- R Frehdl § &1 shl ShHl TaTEt HTHeh! hl Shdehrsil FRATTT Td T@-H& @l {11
Hd & | YA H HH o e o deH H T |

“The pattern of farmer’s suicides points to the significant crisis that the rural areas are

pJ

experiencing.” What do you understand by ‘matrix event’ and how are they

responsible for farmer’s suicides ?

OR

Migration and lack of job security create poor working and living conditions for
migrant labour. Explain with reference to the circulation of labour 1n India.

GTET HIGERTAT Gedi o ToTu T8 YiHehI FEY I~ hid @ | foa’ | SdTsy |
AT
ST SAEAT GIRI G [hT ST aTcT e 39 1 3 7

The Khas1 matriliny generates intense role conflict for men. Elaborate.

OR

What are some of the rules that caste system imposes ?

YHSHIRLU oh TWTE ¢ % U5 @ & | I8 BH G4l i THTIIT HIdT & ik (H=-T4
TR H | ST |

37LAET
IeehTuT <ht 3TTffes Aifd <hl samer =i |

The eftects of globalisation are far reaching. It affects us all but atfects us differently.

Explain.
OR

Explain the economic policy of liberalisation.

6 .:IE
E&' ¥
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25. TCU T 317=e¢ i Ue 3TN HETTRId T 1 I < -
A WIS o THTERIAT <hl ShlTd

ISl O Rhl T Teh 3TcAd Ieci@H [ T | YA VNI o GH=RIAT H hild
A 2 | 31 AHERUAT i ghg IGRIHUT § Ugal &l ehl 2 | YRA < & JHE ¢l o
‘e SO 3R GHep U’ 2 TSiFeh U@ dTeti ol |61 sl 2.1 His 3R 1.7
HUS & | 999 AT dsi H g d1d el H STHMHAT HINT o e=eh & | (51.8 Tfesrd
gfg) 3R ST o ofeh TTHIT &A1 | (129 Hidwd gfg) 7 |

TS Ao GHTERYA i el U YRR ATI3AT & TEE—RIAT (39) I BT ol
Ush 3GTEWT & | 318 oh FEATIh THIS U 4 1974 H 36 THERUA hl YRY HH H I8
Th [ -%e FhaTdlqeieh AT AT | 1980 3 2ok oh HEAWNT H UTHIVT &1 H 31eh — oI
JTEIAH S U TEl § S[Sh I8 o] THERYS ¢gldl H Yga H A%l &l 1 | 3791
30 gharal | Ui g1t 38 1989 1 “fret efies’ fepter 3 fohu | 3 B2 -9 w9 2
o o Set-fomiy & F9a-t et aTel 9a=R 3R 34T f57et o Tidil 3R B el |
YT Sfiehd ToRToA BT ST & | 1998 @b 3MA-3TTd $1g 7Y T¢I & &F el o
RIS BIF T AT 3T FYU! Ae] G-k U1 o THR H 39k T&&0T 70 Jicsra o |

(a) TeHEMh AN~ IS ? 9
(b) WA o W §U frhTd o ToTT foh SHIRUTI bl TSGR 3801 ST Tohall & 7 4

Read the given passage and answer the following questions :

The India Languages Newspaper Revolution

The most significant happening in the few decades has been the India language
newspaper revolution. The beginnings of this growth predated liberalization. The top
two daibies m _India are Danik Jagaran and Danik Bhaskar with a readership of
21 mullion and 17 million, respective. The fastest growing dialies are the Assamese
dailies 1n urban areas (51.8 per cent increase) and the Bengali dailies 1n rural areas
(129 per cent).

The ‘Eenadu’ story also exemplifies the success of the Indian language press.
Ramoj1 Rao the founder of ‘Eenadu’ has successtully organised a chit-fund, before
launching the paper in 1974. By associating with appropriate causes in the rural areas
like the Anti-arak movement 1in the mid-1980s, the Telugu newspaper was able to
reach into the countryside. This prompted 1t to launch ‘district dailies” in 1989. There
were tabloid inserts of sensational features carrying news from particulars districts as
well as classified advertisements from villages and small towns of the same. By 1998
‘Eenadu’ was being published from ten towns mm Andhra Pradesh and its circulation
accounted for 70 per cent of the audited Telugu daily circulation.

(a) What are the different forms of Print media ?
(b) What reasons can be attributed to the emerging growth of Indian ?
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